





















AI Re	erts and Pro eports can b	e de	ve sig	Not ned	ific to	atio ale	n rt r	nan	age	ers t	o business exceptions
Ci Ci	Iventory by	Sub	cate	goi	r <b>y</b>		Beg Seg	in Camp	aian m (selec	t Item)	Alert appears when certa
# Items > 2 months of supply Value of Dicess Inventory Value of Dicess Inventory Value of Inventory value reduced previous month - monitor pred which inventory is falling below		15 0 (\$22.513) \$17.671 from ucts for target		\$69.850		22.826	2.826		\$ on hand Last Quarter Last Month Current		business conditions are not met.
ĸIJ	Item Description		Units on Hand	Uait Cest	5 on Hand	Avg. Hathly	Months on Hand	Target Months	Excess Units	Excess \$	
21	Microsoft Basic Mouse V1.0		12	\$19	\$228	41	0,3	1	(29)	(\$560)	
22	Microsoft Natural Keyboard Elite V2.0		5	\$44	\$220	42	0,1	1	(37)	(\$1.644)	
23	New Hedia 35 HB Compact Flash		19	\$36	\$554	43	0,4	1	(24)	(\$867)	
4	New Hedia 64 HB Compact Flash		19	\$148	\$2,812	22	0,9	1	(3)	(\$399)	
\$	New Hedia 32 HB Compact Flash		19	\$73	\$1.387	42	0,5	1	(23)	(\$1.687)	
5	Now Hedia 32 MB Smart Media		21	\$71	\$1,491	42	0,5	1	(21)	(\$1.475)	
7	3Com 56K Cellular Modern PC Card		5	\$141	\$705	21	0,2	1	(16)	(\$2.213)	
8	3Com OfficeConnect SBK LAN Modern		6	\$213	\$1.278	22	0,3	1	(16)	(\$3.302)	
9	3Com 10/300 Candilus		1	\$117	\$117	22	0,0	1	(21)	(\$2.496)	
0	3Com Networking Kit		20	\$92	\$1.840	21	1,0	1	(1)	(\$51)	
1	Hewlett Peckard External Tape Drive		11	\$186	\$2,046	22	0,5	1	(11)	(\$1.953)	
2	Hewlett Peckard CD-Writer Plus		30	\$206	\$2,060	21	0,5	1	(11)	(\$2.232)	
3	PNY 32 MB Hemory Card		7	\$44	\$308	42	0,2	1	(35)	(\$1.560)	14
4	PNY 64 MB Hemory Card		5	\$51	\$255	43	0,1	1	(30)	(\$1.920)	14
15	PNY 128MB Hemory Card		20	\$112	\$2.240	25	0,9	1	(1)	(\$156)	
		Totals	180		\$17,471	465			(286)	(\$22.513)	













